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Abstract

C(4),¢(6)....... ¢(108),¢(110) considered.

From these equations, it can be said that ((4),{(6)....... ¢(108),¢(110) are irrational numbers.

¢(112),¢(114) etc. can also be expressed by these equations.

Because I use 72, these are to be irrational numbers.

The fact that the even value of ((2n) is irrational can also be explained by the fact that each even value of
¢(2n) is multiplied by 7.
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1 introduction

(Proof)

If 7 is assumed to be rational number. m =", m and n are integer.
Equal nwT=m

Square on both sides.

n’ml=m?, it equal 72 = ’;’Z—; it equal =12

But, © # 7.

This is because 7 is known to be an irrational number.
This contradicts.

72 is irrational number.
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2 Discussion
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¢(44) ,7 % 59 x 8089 x 2947939 x 1798482437
©174811229050578142309465

5 x 23 x 1520097643918070802691

C(42) =

((42)

B 11929022231878243265559227>

C(46) 9 2 x 23 x 383799511 x 67568238839737
©11773473032044333251414729

™32 % 11 x 47 x 59 x 8089 x 2047939 x 1798482437

((44) =

((44)

B 560940336899781768624912754 77>

48) = 4
¢(48) 95362592178146926995460340020 ¢(46)

_ 2 653 x 56039 x 153289748932447906241
T 22 x 3 x5 x T x13x 17 x 23 x 383799511 x 67568238839737

¢(46)

437630569433114409019830132107>
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((52) =

¢(50)
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Below, there is no factorization.
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1215233140483755572040304994079820246041491W2C( )
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C(94) 1220813806579744469607301679413201203958508415202696621436215105284649447072 (92) (50)
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((110) =
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x((108) (63)

¢(112),¢(114) etc. can also be expressed by these equations

3 Conclusion

The fact that the even value of ((2n) is irrational can also be explained by the fact that each even value of ((2n) is
multiplied by 7.

4 Appendices

I use WolframAlpha for calculation.
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